

INVOLUTION-PRESERVING MAPS WITHOUT THE LINEARITY ASSUMPTION AND ITS APPLICATION

JIN-LI XU* , CHONG-GUANG CAO AND HAI-YAN WU

ABSTRACT. Suppose \mathbf{F} is a field of characteristic not 2 and $\mathbf{F} \neq Z_3$. Let $M_n(\mathbf{F})$ be the linear space of all $n \times n$ matrices over \mathbf{F} , and let $\Gamma_n(\mathbf{F})$ be the subset of $M_n(\mathbf{F})$ consisting of all $n \times n$ involutory matrices. We denote by $\Phi_n(\mathbf{F})$ the set of all maps from $M_n(\mathbf{F})$ to itself satisfying $A - \lambda B \in \Gamma_n(\mathbf{F})$ if and only if $\phi(A) - \lambda\phi(B) \in \Gamma_n(\mathbf{F})$ for every $A, B \in M_n(\mathbf{F})$ and $\lambda \in \mathbf{F}$. It was showed that $\phi \in \Phi_n(\mathbf{F})$ if and only if there exist an invertible matrix $P \in M_n(\mathbf{F})$ and an involutory element ε such that either $\phi(A) = \varepsilon PAP^{-1}$ for every $A \in M_n(\mathbf{F})$ or $\phi(A) = \varepsilon PA^T P^{-1}$ for every $A \in M_n(\mathbf{F})$. As an application, the maps preserving inverses of matrices also are characterized.

AMS Mathematics Subject Classification : 15A04.

Key words and phrases : Involutory matrix, idempotent matrix, map.

1. Introduction

At present, some researchers are more interested in the study of the Preserver Problems without “linearity” assumption (see [1]-[8]). One of important techniques in the study of linear preserver problems is to reduce new linear preserver problems to the known ones (see [9]-[11]). However, the example using the reduce technique in the study of invariant preserver problem without the “linearity” assumption has not appeared in the literature. In this paper, after defining a sequence of sets (i.e. the following $N_n(k)$, $k = 0, 1, \dots, n^2$), we characterize involution-preserving maps without the linearity assumption by reducing it to the known idempotent preserver, furthermore, the maps preserving inverses of matrices are also characterized.

Suppose \mathbf{F} is a field of characteristic not 2 and $\mathbf{F} \neq Z_3$. Let $M_n(\mathbf{F})$ be the linear space of all $n \times n$ matrices over \mathbf{F} , and let $\Omega_n(\mathbf{F})$ be a subset of $M_n(\mathbf{F})$. We denote by $\Phi(\Omega_n(\mathbf{F}))$ the set of all maps from $M_n(\mathbf{F})$ to itself satisfying $A - \lambda B \in \Omega_n(\mathbf{F})$ if and only if $\phi(A) - \lambda\phi(B) \in \Omega_n(\mathbf{F})$ for every $A, B \in M_n(\mathbf{F})$ and $\lambda \in \mathbf{F}$. Denote $\Gamma_n(\mathbf{F}) = \{A | A \in M_n(\mathbf{F}) \text{ and } A^2 = I_n\}$,

Received October 17, 2007. Revised February 15, 2008. Accepted March 5, 2008.

*Corresponding author.

© 2009 Korean SIGCAM and KSCAM .

$P_n(\mathbf{F}) = \{A \mid A \in M_n(\mathbf{F}) \text{ and } A^2 = A\}$. In this paper, the general form of surjections in $\Phi(\Gamma_n(\mathbf{F}))$ are determined, and thereby, as an application, the surjective maps preserving inverses of matrices are also characterized.

Denote by $[1, n]$ the set $\{1, 2, \dots, n\}$. For any $i, j \in [1, n]$, E_{ij} expresses the matrix with 1 in the (i, j) th position and 0 elsewhere. Let O_r and I_r be the $r \times r$ zero matrix and $r \times r$ identity matrix. Denote by " \oplus " the usual direct sum of matrices. Now, we define a sequence of sets by

$$N_n(0) = \{O_n\}$$

$$N_n(k) = \{A \mid A \in M_n(\mathbf{F}), \exists \lambda \neq 0, B \in N_n(k-1), \text{ s.t. } \lambda A + B \in P_n(\mathbf{F}), \forall k \in [1, n^2]\}.$$

2. Main results

Lemma 1. *Suppose \mathbf{F} is a field of characteristic not 2, then $A \in P_n(\mathbf{F})$ if and only if $I_n - 2A \in \Gamma_n(\mathbf{F})$.*

Proof. The proof is simple, so we omit it. □

Lemma 2. *Suppose \mathbf{F} is a field of characteristic not 2, and $\phi \in \Phi(\Gamma_n(\mathbf{F}))$ is a surjective map, then $\ker \phi = N_n(0)$.*

Proof. Since $\phi \in \Phi(\Gamma_n(\mathbf{F}))$ is a surjective map, then $\ker \phi \neq \emptyset$, and thereby

$$\phi(I_n) - \lambda\phi(A) = \phi(I_n) \in \Gamma_n(\mathbf{F}), \forall A \in \ker \phi, \lambda \in \mathbf{F}$$

Hence $I_n - \lambda A \in \Gamma_n(\mathbf{F})$. Noting that $ch\mathbf{F} \neq 2$, we have $A = O_n$. i.e., $\ker \phi = N_n(0)$. □

Lemma 3. *Suppose \mathbf{F} is a field of characteristic not 2, and $\phi \in \Phi(\Gamma_n(\mathbf{F}))$ is a surjective map, then $\phi(I_n) \in \{-I_n, I_n\}$.*

Proof. For any given $A \in \Gamma_n(\mathbf{F}) \setminus \{-I_n, I_n\}$, there exist an invertible matrix P and $k \in [1, n-1]$ such that $A = P(I_k \oplus -I_{n-k})P^{-1}$. Denote $B = PE_{k, k+1}P^{-1}$, obviously, $B \neq O_n$ and $A - \lambda B \in \Gamma_n(\mathbf{F})$ for any $\lambda \in \mathbf{F}$, and thereby $\phi(A) - \lambda\phi(B) \in \Gamma_n(\mathbf{F})$ for any $\lambda \in \mathbf{F}$.

If $\phi(A) \in \{-I_n, I_n\}$, then it is easily verified that $\phi(B) = O_n$ which contradicts with Lemma 2. Noting that ϕ is a surjective map, we complete the proof. □

Lemma 4. *Suppose \mathbf{F} is an arbitrary field, then $M_n(\mathbf{F}) = \bigcup_{k=0}^{n^2} N_n(k)$.*

Proof. It is easy to see that for any given $k \in [0, n^2]$, $A \in N_n(k)$ if and only if $\mu A \in N_n(k), \forall \mu \in \mathbf{F} \setminus \{0\}$.

For any given $A \in M_n(\mathbf{F})$, there exist $A_k \in P_n(\mathbf{F}), a_k \in \mathbf{F}$ and $k \in [1, n^2]$ such that $A = \sum_{k=1}^{n^2} a_k A_k$. If $A = O_n$, then $A \in N_n(0)$. If $A \neq O_n$, without loss of generality, we assume $a_k \neq 0, \forall k \in [1, t]$ and $A = \sum_{k=1}^t a_k A_k$.

Now, we will prove $\sum_{k=1}^t a_k A_k \in N_n(t)$ by induction on t .

When $t = 1$, it follows from $a_1^{-1}(a_1 A_1) + O_n \in P_n(\mathbf{F})$ that $a_1 A_1 \in N_n(1)$.

Assume that $\sum_{k=1}^s a_k A_k \in N_n(s)$, then

$$a_{s+1}^{-1} \sum_{k=1}^{s+1} a_k A_k - a_{s+1}^{-1} \sum_{k=1}^s a_k A_k = A_{s+1} \in P_n(\mathbf{F}),$$

and therefore $\sum_{k=1}^{s+1} a_k A_k \in N_n(s+1)$. Thus, $A \in \bigcup_{k=0}^{n^2} N_n(k)$. \square

Lemma 5. *Suppose \mathbf{F} is a field of characteristic not 2 and $\mathbf{F} \neq \mathbb{Z}_3$, and $\phi \in \Phi(\Gamma_n(\mathbf{F}))$ satisfies $\phi(I_n) = I_n$, then*

$$\phi(\mu I_n - 2A) = \mu I_n - 2\phi(A), \forall A \in M_n(\mathbf{F}), \mu \in \mathbf{F}.$$

Proof. Based on Lemma 4, we prove the conclusion by induction on $A \in N_n(k)$, $k \in [0, n^2]$. It follows from $\mu I_n - (\mu - 1)I_n = I_n \in \Gamma_n(\mathbf{F})$, and $\mu I_n - (\mu + 1)I_n = -I_n \in \Gamma_n(\mathbf{F})$ that

$$\phi(\mu I_n) - (\mu - 1)\phi(I_n) \in \Gamma_n(\mathbf{F}), \quad \phi(\mu I_n) - (\mu + 1)\phi(I_n) \in \Gamma_n(\mathbf{F})$$

Together with $\phi(I_n) = I_n$, we get $(\phi(\mu I_n) - \mu I_n) \pm I_n \in \Gamma_n(\mathbf{F})$, and thereby $\phi(\mu I_n) = \mu I_n$. i.e., the conclusion holds for $A = O_n \in N_n(0)$.

Assume the conclusion holds for any $B \in N_n(k-1)$. Now, we prove the conclusion holds for any $A \in N_n(k)$.

It follows from the definition of $N_n(k)$ that there exist $B \in N_n(k-1)$ and $\lambda \in \mathbf{F} \setminus \{0\}$ such that $\lambda A + B \in P_n(\mathbf{F})$. By Lemma 1, we obtain $(I_n - 2B) - 2\lambda A \in \Gamma_n(\mathbf{F})$. This, together with $\phi \in \Phi(\Gamma_n(\mathbf{F}))$, implies $\phi(I_n - 2B) - 2\lambda\phi(A) \in \Gamma_n(\mathbf{F})$. For $B \in N_n(k-1)$, using the inductive hypothesis, we have $\phi(I_n - 2B) = I_n - 2\phi(B)$. Hence, $I_n - 2\phi(B) - 2\lambda\phi(A) \in \Gamma_n(\mathbf{F})$. By Lemma 1, we derive $\lambda\phi(A) + \phi(B) \in P_n(\mathbf{F})$, so there exists an invertible matrix $P \in M_n(\mathbf{F})$ such that

$$\lambda\phi(A) + \phi(B) = P(I_p \oplus O_{n-p})P^{-1}. \quad (1)$$

Let $\sigma \in \mathbf{F} \setminus \{-\lambda, 0, \lambda\}$ and $\varepsilon \in \{-1, 1\}$. We first prove

(i) $\phi(\varepsilon I_n - 2\sigma A) = \varepsilon I_n - 2\sigma\phi(A)$ for any $A \in N_n(k)$ holds.

It follows from $(\varepsilon I_n - 2\sigma A) + 2\sigma A = \varepsilon I_n \in \Gamma_n(\mathbf{F})$ and $((1 - \lambda\sigma^{-1}\varepsilon)I_n - 2B) + \lambda\sigma^{-1}(\varepsilon I_n - 2\sigma A) = I_n - 2(\lambda A + B) \in \Gamma_n(\mathbf{F})$ that

$$\phi(\varepsilon I_n - 2\sigma A) + 2\sigma\phi(A) \in \Gamma_n(\mathbf{F}) \quad (2)$$

and

$$\phi((1 - \lambda\sigma^{-1}\varepsilon)I_n - 2B) + \lambda\sigma^{-1}\phi(\varepsilon I_n - 2\sigma A) \in \Gamma_n(\mathbf{F}). \quad (3)$$

Since $B \in N_n(k-1)$, by the inductive hypothesis, we get

$$\phi((1 - \lambda\sigma^{-1}\varepsilon)I_n - 2B) = (1 - \lambda\sigma^{-1}\varepsilon)I_n - 2\phi(B). \quad (4)$$

Substituting (1) into (2), we derive

$$(\phi(\varepsilon I_n - 2\sigma A) + 2\sigma(\lambda^{-1}P(I_p \oplus O_{n-p})P^{-1} - \lambda^{-1}\phi(B)))^2 = I_n. \quad (5)$$

Substituting (4) into (3), we obtain

$$((1 - \lambda\sigma^{-1}\varepsilon)I_n - 2\phi(B) + \lambda\sigma^{-1}\phi(\varepsilon I_n - 2\sigma A))^2 = I_n. \quad (6)$$

Denote $\xi = \lambda\sigma^{-1}$. It follows from $\sigma \in \mathbf{F} \setminus \{-\lambda, 0, \lambda\}$ that $\xi \in \mathbf{F} \setminus \{-1, 0, 1\}$. Denote

$$\phi(\varepsilon I_n - 2\sigma A) - 2\sigma\lambda^{-1}\phi(B) = PXP^{-1}. \quad (7)$$

Substituting $\xi = \lambda\sigma^{-1}$ and (7) into (5) and (6), we have

$$(X + 2\xi^{-1}(I_p \oplus O_{n-p}))^2 = I_n \quad (8)$$

and

$$(X + (\xi^{-1} - \varepsilon)I_n)^2 = \xi^{-2}I_n. \quad (9)$$

Combining (8) and (9), we obtain

$$(\xi^{-1} - \varepsilon)(X - \varepsilon I_n) = \xi^{-1}(X(I_p \oplus O_{n-p}) + (I_p \oplus O_{n-p})X) + 2\xi^{-2}(I_p \oplus O_{n-p}).$$

Noting that $\xi \in \mathbf{F} \setminus \{-1, 0, 1\}$. We get $X = (\varepsilon - 2\xi^{-1})I_p \oplus \varepsilon I_{n-p}$. Hence

$$\begin{aligned} \phi(\varepsilon I_n - 2\sigma A) &= PXP^{-1} + 2\lambda^{-1}\sigma\phi(B) \\ &= \varepsilon I_n - 2\xi^{-1}P(I_p \oplus O_{n-p})P^{-1} + 2\lambda^{-1}\sigma\phi(B) \\ &= \varepsilon I_n - 2\lambda^{-1}\sigma(\lambda\phi(A) + \phi(B)) + 2\lambda^{-1}\sigma\phi(B) \\ &= \varepsilon I_n - 2\sigma\phi(A). \end{aligned} \quad (10)$$

Now, we prove

(ii) $\phi(\gamma I_n - 2\sigma A) = \gamma I_n - 2\sigma\phi(A)$, where $\gamma \in \mathbf{F} \setminus \{-1, 1\}$, $\sigma \in \mathbf{F} \setminus \{-\lambda, 0, \lambda\}$. It follows from $\gamma \in \mathbf{F} \setminus \{-1, 1\}$ and $\sigma \in \mathbf{F} \setminus \{-\lambda, 0, \lambda\}$ that there exists $\delta \in \{-1, 1\}$ such that $(\gamma - \delta)^{-1}\sigma \neq \pm\lambda$. In fact, if $(\gamma - 1)^{-1}\sigma = \pm\lambda$, then $(\gamma - 1)\lambda = \pm\sigma$, and thereby $(\gamma + 1)\lambda = 2\lambda \pm \sigma \notin \{-\sigma, \sigma\}$, (otherwise, it contradicts with $\sigma \in \mathbf{F} \setminus \{-\lambda, 0, \lambda\}$ and $\lambda \neq 0$). Therefore, $(\gamma + 1)^{-1}\sigma \neq \pm\lambda$. Similarly, it follows from $(\gamma + 1)^{-1}\sigma = \pm\lambda$ that $(\gamma - 1)^{-1}\sigma \neq \pm\lambda$. Besides, it follows from $(\gamma I_n - 2\sigma A) - (\gamma - \delta)(I_n - 2\sigma(\gamma - \delta)^{-1}A) = \delta I_n \in \Gamma_n(\mathbf{F})$ and $((1 - \lambda\sigma^{-1}\gamma)I_n - 2B) + \lambda\sigma^{-1}(\gamma I_n - 2\sigma A) = I_n - 2(\lambda A + B) \in \Gamma_n(\mathbf{F})$ that

$$\phi(\gamma I_n - 2\sigma A) - (\gamma - \delta)\phi(I_n - 2\sigma(\gamma - \delta)^{-1}A) \in \Gamma_n(\mathbf{F}) \quad (11)$$

and

$$\phi((1 - \lambda\sigma^{-1}\gamma)I_n - 2B) + \lambda\sigma^{-1}\phi(\gamma I_n - 2\sigma A) \in \Gamma_n(\mathbf{F}). \quad (12)$$

Because of $(\gamma - \delta)^{-1}\sigma \neq \pm\lambda$, using (10) we have

$$\phi(I_n - 2\sigma(\gamma - \delta)^{-1}A) = I_n - 2\sigma(\gamma - \delta)^{-1}\phi(A). \quad (13)$$

Because of $B \in N_n(k - 1)$, by the inductive hypothesis, we get

$$\phi((1 - \sigma^{-1}\lambda\gamma)I_n - 2B) = (1 - \sigma^{-1}\lambda\gamma)I_n - 2\phi(B). \quad (14)$$

Substituting (1) and (13) into (11), we obtain

$$(\phi(\gamma I_n - 2\sigma A) - (\gamma - \delta)I_n + 2\sigma(\lambda^{-1}P(I_p \oplus O)P^{-1} - \lambda^{-1}\phi(B)))^2 = I_n. \quad (15)$$

Substituting (14) into (12), we derive

$$(\lambda\sigma^{-1}\phi(\gamma I_n - 2\sigma A) + (1 - \lambda\sigma^{-1}\gamma)I_n - 2\phi(B))^2 = I_n. \quad (16)$$

Let

$$\phi(\gamma I - 2\sigma A) - 2\sigma\lambda^{-1}\phi(B) - (\gamma - \delta)I = PYP^{-1}. \quad (17)$$

Substituting (17) into (15) and (16), we derive

$$(Y + 2\xi^{-1}(I_p \oplus O_{n-p}))^2 = I_n, \quad (18)$$

$$(Y + (\xi^{-1} - \delta)I_n)^2 = \xi^{-2}I_n. \quad (19)$$

Combining (18) and (19), we get

$$(\xi^{-1} - \delta)(Y - \delta I_n) = \xi^{-1}(Y(I_p \oplus O_{n-p}) + (I_p \oplus O_{n-p})Y) + 2\xi^{-2}(I_p \oplus O_{n-p}).$$

Noting that $Y = (\delta - 2\xi^{-1})I_p \oplus \delta I_{n-p}$, we have, for any $\sigma \in F \setminus \{-\lambda, 0, \lambda\}$

$$\phi(\gamma I_n - 2\sigma A) = PYP^{-1} + 2\lambda^{-1}\sigma\phi(B) + (\gamma - \delta)I_n = \gamma I_n - 2\sigma\phi(A). \quad (20)$$

Finally, we prove the conclusion in Lemma 5. Since $\mathbf{F} \neq Z_3$, then $|\mathbf{F} \setminus \{-\lambda, 0, \lambda\}| \geq 2$. For any $\mu \in \mathbf{F}, \sigma \in \mathbf{F} \setminus \{-\lambda, 0, \lambda\}$, it follows from

$$((1 - \mu\sigma)I_n + 2\sigma A) + \sigma(\mu I_n - 2A) = I_n \in \Gamma_n(F)$$

that

$$\phi((1 - \mu\sigma)I_n + 2\sigma A) + \sigma\phi(\mu I_n - 2A) \in \Gamma_n(F). \quad (21)$$

In views of $\sigma \in F \setminus \{-\lambda, 0, \lambda\}$, (10) and (20), we have

$$\phi((1 - \mu\sigma)I_n + 2\sigma A) = (1 - \mu\sigma)I_n + 2\sigma\phi(A). \quad (22)$$

Substituting (22) into (21), we get

$$I_n + \sigma(\phi(\mu I_n - 2A) - \mu I_n + 2\phi(A)) \in \Gamma_n(F), \forall \sigma \in F \setminus \{-\lambda, 0, \lambda\}.$$

Hence $\sigma(\phi(\mu I_n - 2A) - \mu I_n + 2\phi(A)) = O_n$. From $\sigma \neq 0$, we know that $\phi(\mu I_n - 2A) = \mu I_n - 2\phi(A)$ for any $A \in N_n(k)$. We complete the proof. \square

Theorem 1. *Suppose \mathbf{F} is a field of characteristic not 2 and $\mathbf{F} \neq Z_3$, and $\phi \in \Phi(\Gamma_n(F))$ is a surjective map. Then there exist an invertible matrix $P \in M_n(F)$ and an involutory element $\varepsilon \in F$ such that either $\phi(A) = \varepsilon PAP^{-1}$ for any $A \in M \in (F)$ or $\phi(A) = \varepsilon PA^T P^{-1}$ for any $A \in M_n(F)$.*

Proof. By Lemma 3 we have $\phi(I_n) \in \{-I_n, I_n\}$.

Case 1. $\phi(I_n) = I_n$. It follows from Lemma 5 that

$$\begin{aligned} A - \lambda B \in P_n(\mathbf{F}) &\Leftrightarrow (I - 2A) + 2\lambda B \in \Gamma_n(\mathbf{F}) \\ &\Leftrightarrow \phi(I - 2A) + 2\lambda\phi(B) = I - 2\phi(A) + 2\lambda\phi(B) \in \Gamma_n(\mathbf{F}) \\ &\Leftrightarrow \phi(A) - \lambda\phi(B) \in P_n(\mathbf{F}) \quad \forall A, B \in M_n(\mathbf{F}), \lambda \in \mathbf{F}. \end{aligned}$$

So $\phi \in \Phi(P_n(\mathbf{F}))$. By [3, theorem 1], there exists an invertible matrix $P \in M_n(\mathbf{F})$ such that

$$\phi(A) = PAP^{-1}, \quad \forall A \in M_n(\mathbf{F}) \text{ or } \phi(A) = PA^T P^{-1}, \quad \forall A \in M_n(\mathbf{F}).$$

Case 2. $\phi(I_n) = -I_n$. Let $\psi(X) = -\phi(X)$, $\forall X \in M_n(\mathbf{F})$. Then $\psi \in \Phi(\Gamma_n(\mathbf{F}))$, $\psi(I_n) = I_n$, and ψ is a surjective map. Hence there exists an invertible matrix $P \in M_n(\mathbf{F})$ such that

$$\phi(A) = -PAP^{-1}, \quad \forall A \in M_n(\mathbf{F}) \text{ or } \phi(A) = -PA^T P^{-1}, \quad \forall A \in M_n(\mathbf{F}).$$

□

4. Application

Theorem 2. Suppose \mathbf{F} is a field of characteristic not 2 and $\mathbf{F} \neq Z_3$. A surjective map $\phi : M_n(\mathbf{F}) \rightarrow M_n(\mathbf{F})$ satisfies $A - \lambda B = C^{-1}$ if and only if $\phi(A) - \lambda\phi(B) = \phi(C)^{-1}$, where $A, B, C \in M_n(\mathbf{F})$, $\lambda \in \mathbf{F}$ and C is an invertible matrix. Then there exists an invertible matrix $P \in M_n(\mathbf{F})$ and an involutory element $\varepsilon \in \mathbf{F}$ such that either $\phi(A) = \varepsilon PAP^{-1}$, $\forall A \in M_n(\mathbf{F})$ or $\phi(A) = \varepsilon PA^T P^{-1}$, $\forall A \in M_n(\mathbf{F})$.

Proof. Obviously, for any invertible matrix $A - \lambda B \in M_n(\mathbf{F})$, we have $\phi((A - \lambda B)^{-1}) = (\phi(A) - \lambda\phi(B))^{-1}$ and $\phi(A^{-1}) = (\phi(A))^{-1}$ while $\lambda = 0$. Hence,

$$\begin{aligned} A - \lambda B \in \Gamma_n(\mathbf{F}) &\Rightarrow (A - \lambda B)^{-1} = A - \lambda B \\ &\Rightarrow \phi(A) - \lambda\phi(B) = (\phi(A - \lambda B)^{-1})^{-1} = \phi(A - \lambda B) \\ &= \phi((A - \lambda B)^{-1}) = (\phi(A) - \lambda\phi(B))^{-1} \\ &\Rightarrow \phi(A) - \lambda\phi(B) \in \Gamma_n(\mathbf{F}). \end{aligned}$$

On the contrary, if $\phi(A) - \lambda\phi(B) \in \Gamma_n(\mathbf{F})$, then

$$\phi(A) - \lambda\phi(B) = (\phi(A) - \lambda\phi(B))^{-1} = \phi((A - \lambda B)^{-1}) = \phi(A - \lambda B)^{-1}$$

This means $A - \lambda B = (A - \lambda B)^{-1}$, and thereby $A - \lambda B \in \Gamma_n(\mathbf{F})$. So $\phi \in \Phi(\Gamma_n(\mathbf{F}))$. Thus, by Theorem 1, we complete the proof. □

5. Remark

The method in this paper is also available for the upper triangular matrix space. The followings are some open problems related to this paper.

Can the surjection assumption be omitted?

When $\text{ch}\mathbf{F}=2$, characterizing the forms of elements in $\Phi(\Gamma_n(\mathbf{F}))$ is an open problem as well.

6. Acknowledgements

The author would like to thank the referees for their valuable comments which have improve this paper significantly.

This work was supported in part by the Chinese Natural Science Foundation under Grant No.10671026, the Natural Science Foundation of Heilongjiang Province under Grant No. A01-07 and the Fund of Heilongjiang Education Committee for Overseas Scholars under Grant No.1054HQ004.

REFERENCES

1. P. Šemrl, *Hua's fundamental theorems of the geometry of matrices and related results*, Linear Algebra Appl. **361** (2003), 161-179.
2. G. Dolinar, *Maps on matrix algebras preserving idempotents*, Linear Algebra Appl. **371** (2003), 287-300.
3. X. Zhang, *Idempotence-preserving maps without the linearity and surjectivity assumptions*, Linear Algebra Appl. **387** (2004), 167-182.
4. G. Dolinar and P. Šemrl, *Determinant preserving maps on matrix algebras*, Linear Algebra Appl. **348** (2002), 189-192.
5. G. Dolinar and P. Šemrl, *Maps on matrix algebras preserving commutativity*, Linear and Multilinear Algebra. **52** (2004), 69-78.
6. G.C. Cao and X.M. Tang, *Determinant preserving transformations on symmetric matrix space*, Electronic Journal of Linear Algebra. **11** (2004), 205-211.
7. R. Bhatia, P. Šemrl and A.R. Souror, *Maps on matrices that preserve the spectral radius distance*, Studia Math. **134** (1999), 99-110 .
8. Yuqiu Sheng, Baodong Zheng and Xian Zhang, *Idempotence Preserving Maps on Spaces of Triangular Matrices*, J. Appl. Math. & Computing. **25** (2007), 17-33.
9. A. Guterman, C.K. Li and P. Šemrl, *Some general techniques on linear preserver problems*, Linear Algebra Appl. **315** (2000), 61-81 .
10. C.K. Li and S. Pierce, *Linear preserver problems*, Amer. Math. Monthly. **108** (2001), 591-605.
11. Changjiang Bu, *Invertible linear maps preserving $\{I\}$ -inverses of matrices over PID*, J. Appl. Math. & Computing. **22** (2006), 255-265.

Jin-li Xu received his BS from Heilongjiang University. Since 2005 he has been studying for his MS in Heilongjiang University. His research interests center on matrix algebra and Lie alegebra.

School of Mathematical Science, Heilongjiang University, Harbin, 150080, P. R. China
email: jclixv@163.com

Chong-guang Cao received his MS from Northeastern Normal University. Since 1981 he has been at the Heilongjiang University. In 1992, he received a Professor from Heilongjiang Education Committee. His research interests center on the theory of classical group and matrix algebra.

School of Mathematical Science, Heilongjiang University, Harbin, 150080, P. R. China
e-mail: caochongguang@163.com

Hai-yan Wu received her BS and MS from Heilongjiang University. Her research interests center on matrix algebra.

Basic department, DeQiang Business College, Harbin, 150025, P. R. China
email: realhaiyanwu@163.com